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��� ����� (un)n �� �	
���� �
��� ��� ��� ���������	� u : n �−→ un �� N� 	� ����� ������

�� N� ���� R� �	�� (un)n ��� ����� �� �	
���� �
����

�� �� ��� ��� �� ����� (un)n ��� ���������	 �����������
��� ������	
	�� ���������	� �� �	��

�	�� n� un+1 ≥ un �����������
��� un+1 > un��

�� �� ��� ��� �� ����� (un)n ��� �����������	 �����������
��� ������	
	�� �����������	� ��

�	�� �	�� n� un+1 ≤ un �����������
��� un+1 < un��

�� �� ��� ��� �� ����� (un)n ��� �����������	 ���� ������ n0 ∈ N ��� ��� �	�� �	�� n ∈ N

	� ���

n ≥ n0 =⇒ un = un0
.

�� �� ��� ��� �� ����� (un)n∈N ��� 
�
���	 �� ������
��� {un | n ∈ N} ��� 
� 	�
�

!� �� ��� ��� �� ����� (un)n∈N ��� 
�����	 �� ������
��� {un | n ∈ N} ��� 
��	�
�

"� �� ��� ��� (un)n∈N ��� �����	 �� ������
��� {un | n ∈ N} ��� �	��
�

�������� �	� �� #� ����� (un)n �
$��� ��� % un = cos

(
2n!π

p

)
� 	& p ��� �� ������ �������

$�
� ��� �����	�������

�� '	�� �	�� ������ n ≥ 1� 	� �	�� un =
n

2n
� �� �

un+1

un
=

n + 1

2n+1

2n

n
=

1

2

n + 1

n
=

1

2

(
1 +

1

n

)
≤ 1

2
(1 + 1) = 1.

'������ ��� ���
�� un �	�� �	����(�� 	� �� �
���� un+1 ≤ un �	�� �	�� n ≥ 1� #� �����

�un� ��� �	�� �
��	�������� )��� ��� ����� �	��
�� ��� 	� � 0 < un ≤ u1�
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����
 �	� ��	 ����	 (vn)n 	�� ���	 	������	 �	 (un)n ���� 	����	 ��	 ����������� ������	�


	�� ���������	 γ : N −→ N �	� ��	 ���� ���� n� �� ��� vn = uγ(n)�

������� �	� �	�� �� ����� un = cos(nπ/4) ���� n ∈ N� (vn)n∈N = ((−1)n)n∈N ��� ��� �����
�������� �� (un)n∈N * �� �+�� �	�� γ(n) = 4n� 	� � % vn = uγ(n) = cos(nπ) = (−1)n�

��� ��
��� ����� 
����
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����
 �	� ���	�� (un)n ��	 ����	 �	 ��
��	� ��	�� 	� l �� ��
��	 ��	�� �� ��� ��	 (un)n
�	�� ��� ����	��	� �	�� l� 	� �� �����

un → l ����� n→∞ �� lim un = l �� lim
n→∞

un = l
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�� ���� ���� ε > 0� �	 
����
 n0 ∈ N �
	 ��
 ���� ���� 

��
� n �
 ���

n ≥ n0 =⇒ |un − l| < ε.
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� ��� ���
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�
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�

�
�

������� �	� �� � � lim
n→+∞

exp (−n) = 0 �� lim
n→+∞

ln (n)

n
= 0�
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un = (−1)n , vn = cos n �� wn = sin n
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���	 ��	 	
���	 �
����	 �
����	 ���

un = 1 +
1

1!
+

1

2!
+

1

3!
+ · · · +

1

n!
�� vn = un +

1

n.n!
.

�� �� 	
��� (un) �	� ����		���� �����
�� ���� ���� �	� ������������

�� �� 	
��� (vn) �	� �
����		���� �����
�� ���� ���� �	� ������������

����������
 �	� '��

� (un)n 
� (vn)n �
�� ����
� ��
		
� ��� ��
�
��

� �
��
����
�

� �
��

	
� ��
	� l 
� l′� 
� ���� α �
 
����
 ��
	� �	���

�� lim |un| = |l|, lim(un + vn) = l + l′, lim(unvn) = ll′ 
� lim(αun) = αl�

�� �� �
 �	�� l′ 	= 0� �	��� lim
un

vn
=

l

l′
�

 � �� un ≥ vn ���� ���� n� �	��� l ≥ l′�

�������� ��� ���� ��
������

'��

� (an)n� (bn)n 
� (un)n ����� ����
� �
		
� ��
 ���� ���� n ∈ N� �
 � �

an ≤ un ≤ bn.

'� 	
� ����
� (an)n 
� (bn)n ��
�
��

� �
�� 	� �&�
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 l� 	� ����
 (un)n ��
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 �����

�
�� l�

�������� �� �����
�� ����������

(
 ����
 ����
 ���
�
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 �
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������
 �

 ���������
 ��
�
��

�
�

������� �	! ���� �� 	
��� (un)n �
���� ��� � un = (−1)n� ����	 �� 	
��� �������� (u2n)
�������� ���	 1 �� �� 	
��� �������� (u2n+1) �������� ���	 −1�

"����#�� �	� �� 
�� 	
��� ���	� ��	 ����
�� �� ���	�� 
�� 	�
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�� (un)n �� (vn)n ���� 
���� �
�������� �� 
�� ������	�	� ����

������ ���� ����������� �

�� (un)n ��� ���������� �� (vn)n ��� 
	�����������

�� lim(un − vn) = 0�

�
����� 	
� ��� ������ ���		�� 
������ 
��

un = 1 +
1

1!
+

1

2!
+

1

3!
+ . . . +

1

n!
�� vn = 1 +

1

1!
+

1

2!
+

1

3!
+ . . . +

1

(n− 1)!
+

2

n!

���� �
��������� �� 
�������� un+1 − un
1

(n+1)! � 
��� 	� ����� (un)n ��� ����������� �� vn+1 −
vn = − n−1

(n+1)! < 0� 
��� (vn)n ��� ��� ����� 
������������ vn − un = 1
n! → 0 ����
 n → +∞�


��� ��� 
��� ������ ���� �
�������� �� ��� ���� 	����� l ∈]2,3[� ��� u2 =
5

2
�� v3 =

17

6
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� ���� ������ �	�

�� �
�������� ���� ������������ �� ��� ��� 
����� ����

���� �

lim
n→+∞

un = lim
n→+∞

vn.

��� ������	 ������	

��������� 	
� ���� (un)n ��� ����� 
� ������� �	�
��

�� �� 
�� ��� (un)n ���
 ���� +∞� �� �� 	���� lim un = +∞� �� ���� ���� a > 0 �
 ������

�� ������ ������
 n0 ��
 ��� un > a 
 � ��� n > n0�

�� �� 
�� ��� (un)n ���
 ���� −∞� �� �� 	���� lim(un) = −∞� �� ���� ���� a > 0 �
 ������

�� ������ ������
 n0 ��
 ��� un < −a 
 � ��� n > n0�

�
����� 	
� ���� (un)n 	� ����� ���		� 
����� 
�� � un = an 
��� ���� n ∈ N� �� a ∈ R� ��

� �

�� �� a > 1 �	��� lim an = +∞�

�� �� |a| < 1 �	��� lim an = 0�

 � �� a ≤ −1 �	��� (un)n ��� ��� ����� 
�!��"�����

#� �� a = 1 �	��� (un)n ��� 	� ����� ��������� �!�� un = 1�

�� ����� (un)n ��� 
��� "���������� 
� ������ a�

����������� 	
� �� � �

�� !���� ����� ���������� ��� �����	� ���
 ���� +∞�

�� !���� ����� 
	���������� ��� �����	� ���
 ���� −∞�

�
����� 	
� �� �����
$�� 	� ����� 
����� 
��

un = 1 +
1

2
+ · · · + 1

n
.



� �������� 	

�� ����� (un)n ��� �	
������� �� �
� ��

	��� ���
�� �� ������ M ∈ R+ ��� ��� � up ≤ M, ∀p�

	 �
�	 p = 2n� 
� � �

M ≥ up = 1 +
1

2
+

(
1

3
+

1

4

)
+

(
1

5
+ · · ·+ 1

8

)
+ · · ·+

(
1

2n−1 + 1
+ · · · + 1

2n

)

≥ 1 +
1

2
+

2

4
+

4

8
+ · · · + 2n−1

2n

= 1 +
1

2
+ · · · + 1

2

≥ 1 +
n

2
,

���� ��� �	��� ���� ��� �
�� n ∈ N� ���� �
��	���� �� ���� ��� R ��� �	���������� �
��� �� �����

(un)n ��� �
� ��

	��� �
��� ���� ��� �	
�������� 
� ������ ������� ���� ��	� +∞�

��� �����	 
��
����
�
�	

��	 �
	��� ������	������� 
� ������ ��� ����	���� ��� �������� �

�� lim un = +∞ �� lim vn = −∞ ��
	� �� ����� (un + vn)n �	��� �� �
	�� ������	�����

+∞−∞�

�� lim un = +∞ �� lim vn = 0 ��
	� �� ����� (unvn)n �	��� �� �
	�� ������	����� +∞× 0�

 � lim un = ±∞ �� lim vn = ±∞ ��
	� �� �����

(
un

vn

)
n

�	��� �� �
	�� ������	�����
∞
∞ �

!� lim un = 0 �� lim vn = 0� ��
	� �� �����

(
un

vn

)
n

�	��� �� �
	�� ������	�����
0

0
�

��� ��
��	 ����
���
���	

�� �����	 
� ����
�

��������� ��� ���� (un)n ��� ����� 	� ��
���� �
���� �� 	�� ��� (un)n ��� 	� ������ ��
���� ���� ε > 0� �� ������ n0 ∈ N ��� ��� ���� ���� n,m ∈ N �� ���

n , m ≥ n0 =⇒ |un − um| < ε.

�����	����� ��� �������� 
� ����
�� �� � ��� �
������� �������� �

�� ����� ����� ����������� ��� 	� �������

��  ��� R� ����� ����� 	� ������ ��� ������������

����� � ��! �� ����� ��"��� ��	 �

un = 1 +
1

1!
+

1

2!
+

1

3!
+ . . . +

1

n!

��� ��� ����� �� #����$ ���� Q� #���� ����� �
���	%� ��	� �� �
�&	� 	��� ������	������ ���

' Q (�
�	 �� �����
� )��	�����*�

"� �����	 ����������	
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� ��
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��
� ��	
� ����	� ���
{

u0 = a
un+1 = f(un), ∀n ∈ N.

�� f ��
 ��� ���

	�� ������ ����	� �
 
��
	��� ��� �� 	�
������� ����� I �� R 
���� ���
f(I) ⊆ I �
 a �� ������ ���� �����
����
 � I�

�
��������� 	
� �	 �� ��	
� ��
�����
� (un)n ��
 
��������
�� ����� �� �	�	
� l ���	�� ��
����
	��
l = f(l)�

������� ������������� 	
	 ����������� 	
 ����
 ��
		
 �����
 �
�

{
u0 = 1
un+1 =

√
un + 1.

�
��
 ����
 
�� ������
�
�� ������
��
� �
����
 �
� 2, ���� 
		
 
�� ����
��
��
� �
 	����


�����
 l =
√

l + 1� ����
l2 − l − 1 = 0,

�
� ����
�

l =
1−√5

2
�� l =

1 +
√

5

2
,

����
 l ≥ 0� �� ������ ��
 	��� 


l =
1 +

√
5

2
.
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��� 	
	 �� �	 f ��
 
��	����
� ��� I ����� �� ��	
� (un)n ��
 ����
��� �
 �� � �

��� (un)n ��
 
��	����
� �	 �
 ��������
 �	 f(u0)− u0 ≥ 0�

��� (un)n ��
 ��
��	����
� �	 �
 ��������
 �	 f(u0)− u0 ≤ 0�

 � �	 f ��
 ��
��	����
� ��� I� ����� ��� ���! ����"��	
�� (u2n)n �
 (u2n+1)n ���
 ����
����
�
 ���	��
 �� ���� 	�������

����
��� 	
� ���������� � !����� �� ���"�
#����$ �	 f ��
 ���	����� ��� ]a,b[ �
 �#	�
�!	�
� k ∈]0,1[ 
�� ��� �

∀x ∈]a,b[, |f ′(x)| ≤ k,

�	 �#����
	�� l = f(l) ����
 ��� ����� ����
	�� l0 ∈]a,b[� ����� ���� 
��
 u0 
�� ��� |u0− l0| <
min{b − l0,l0 − a}� �� ��	
� (un)n ����	� ��� u0 �
 �� ����
	�� �� ��
�����
� un+1 = f(nn)

������� ���� l0�

��� �����	��
 ��
�
�


���
���� 	
	 $
��	�� ��	���
 ��� ������� �� a� �#�!	�
��
� ��� �	�	
�� ��� ��	
�� ��	���
�� �

un = (sin a)n �
 vn = (cos a)n.

%�� ����
 �� ���� ��	 �� k ∈ R �	
 ��	 |k| < 1� �
�
� lim
n→+∞

kn = 0�

• ���
 un = (sin a)n� �� � �

�� �� a = π
2 + 2kπ �
�
� un = 1 �∀n ∈ N� 	�� ��	 ����	 ����������
	 	� �� � lim

n→+∞
un = 1�

�� �� a = −π
2 + 2kπ �
�
� un = (−1)n� ∀n ∈ N� ���� (un) 	�� ���	
�	��	�



� �������� 	

�� ���� ��� �	
��� ��� ��
����
� ��� ��� �� �
 ��� �� �	�� |sin a| < 1 ��
 ���� lim
n→+∞

un = 0�

• ��	� vn = (cos a)n� �� � cos a = sin(π
2 − a)� �� �� ����� b = π

2 − a� �� ��
���
 vn = (sin b)n �
 ��
�� ������ �	 ��� ��������
�

�������� �	
 ���� (un)n ��� ����� 	
����� 
���	�	 ��� �� ����� ����� �����	�� ��	� l ∈ R�

���	� �� ����� (|un|)n �����	����� ��	� |l|�
��� ������� ��	� �� �� 	
���	�����

��
�����	 ���
 ε > 0� ����� �� ����
� Nε ∈ N 
�� �	� ��	� n ∈ N� �� ��
 �

n ≥ Nε ⇒ |un − l| < ε.

�� ||un| − |l|| ≤ |un − l|� ����
n ≥ Nε ⇒ ||un| − |l|| < ε.

���� ���
�� �	� (|un|)n �������� ���� |l|� �� ��������	� � ��
 ��� ����� ��� ������� ��	� �� �	�
�

un = (−1)n ��
 ��������
� ���� (|un|)n ��
 ���������
��

�������� �	� ���� (un)n ��� ����� 	
���� �����	����� �� ������ ��� ������ 
���	�	 ����� ������

�� ����� �� ����	� 	
�� r ��	�������� ������� �� �� �����	 ����	�� n0 ���� ���

|un| ≥ r �� unum > 0

��� ��� n,m ≥ n0�

��
�����	 �� ��
� lim
n→+∞

un = l ∈ R∗� �� � ���� lim
n→+∞

|un| = |l| > 0� �� ��!��
��� �� �� ����
�

��	� ε = |l|
2 �����

(∃n0 ∈ N) (∀n ∈ N)�

(
n ≥ n0 ⇒ |un − l| ≤ |l|

2

)

� �"

n,m ≥ n0 ⇒ l − |l|
2
≤ un, um ≤ l +

|l|
2

.

# �� l > 0� ����� ∀n, m ≥ n0� �� � 0 < l
2 ≤ un,um� �� �	$
 �� ����� r = l

2 �� �	�� �� ���	�
�
�

# �� l < 0� ����� ∀n, m ≥ n0� �� � un, um ≤ l
2 < 0� �� �	$
 �� ����� r = |l|

2 �� �	�� �� ���	�
�
�

%���� ���� 
�	� ��� ��� &r = |l|
2 �� �� �

|un| ≥ r �
 unum > 0

��� �	� n, m ≥ n0�

�������� �	� 
���	�	 ���

lim
n→+∞

n!

nn
= 0.

��
�����	 �� �
n!

nn
=

1× 2× · · · × n

n× · · · × n
=

1

n
× 2

n
× · · · × n− 1

n
,

��� ��	� k = 2, · · · ,n− 1� �� � � 0 ≤ k

n
≤ 1� ����

0 ≤ n!

nn
≤ 1

n
.

���� ���
�� �	� lim
n→+∞

n!

nn
= 0�

�������� �	� ���� (un)n �� ����� �
��
�	���� �
���� ��	  ∀ n ∈ N� un = an �! a ∈ R�

"� 
���	�	 ��� �� a > 1 ���	� lim un = +∞�
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���� �
��� �

�� ������� 	
� �� 0 < a ≤ 1 
���� �
 �
��� (un)n ��� ������������

�� ������� 	
� �� a ≤ −1 
���� (un)n ��� 
�� �
��� �����������

��������	

�� �� a > 1� �� � 	�
� a = 1 + b� ��
� b > 0� 
�����


an = (1 + b)n =
n∑

p=0

Cp
nbn−p = 1 + nb + · · ·+ bn,

����� an ≥ nb� ���� ���� n ∈ N� �� ����
 lim nb = +∞� �� � ����

lim
n→+∞

an = +∞.

�� �� 0 < a ≤ 1� ���� a 	= 1� ������ C =
1

a
� ����
 C > 1� �� � limCn = +∞� ����

lim
n→+∞

an = lim
n→+∞

1

Cn
= 0.
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 ��� �� a = 1� �� ����
 
�� �����������
 
� � ���� �����
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�� �� a ≤ −1 ����� un = (−1)n |a|n� 
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 ��� ������
� �� ���� ��
 �� ����
 (un)n ���
��
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���� �	� ���� (un)n �
 �
��� ������ �
� � ∀ n ∈ N� un = npan �� a ∈ R �� p ∈ Z�

�� ������� 	
� �� a > 1 
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��	
� ���� �������� p ∈ Z� �� 
 lim(npan) = +∞�

�� ������� 	
� �� |a| < 1 
���� 	
��	
� ���� �������� p ∈ Z� �� 
 lim(npan) = 0�

��������	

�� �� �
�����
 ���	��� ��
 �� p ≥ 0� ����� �� np ≥ 1 ���� ���� n > 0 ���� ����� un = npan ≥ an�

�� a > 1� �� ���� ��
 an �
�� �
�� +∞� ���� un �
�� ����� �
�� +∞�

�� ������
 �����
���� ��
 p = −1� �
 ����
 ��
 ���� � un = n−1an =
an

n
� �� ���
 h = a− 1�


��  !��� "�
� �
 ���	�
 h 
�� ������
�
�� ������#� ���� �� #�����
 �� 	��$�


(1 + h)n = 1 + nh + C2
nh2 + . . . + Ck

nhk + . . . + hn,

���� �
� �
��
� �
 �� ����
 ���� ������#�� 
��� ���� 
���
� n ≥ 2� �� � ���� ����������


(1 + h)n > C2
nh2 =

n(n− 1)

2
h2.

%� ��
�� ����� un =
(1 + h)n

n
>

n− 1

2
h2 
� ��� ����
 limun = +∞�

�� ������
 
�&� p ≤ −2 
� �� ���
 q = −p� �
 ����
 ��
 ���� � q ≥ 2� �� ���
 b = q
√

a 
�

��������� � bq = a� �� ��
��

un = n−qan =
an

nq
=

(bq)n

nq
=

bnq

nq
=

(bn)q

nq
=

(
bn

n

)q
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�� �
�� +∞ �����"� �
 ��� ������
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� ���������
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limun = +∞�
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�

�� ������
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� |a| < 1� �� ���
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|un| = |npan| = np|a|n =
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|b|n

�

1

|un| =
|b|n
np

= n−p|b|n.
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������
��� *����
1
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�

∣∣∣∣un+1

un
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�
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�� �� �
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=

u1
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u2
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u3
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. . .
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.

���	
�� �
���� ��	 n �������	 �� ������� � �� ������ 	���������� ���	 ����� 
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∣∣∣∣u1

u0
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=
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=
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√
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√
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n
√
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+ . . . +
1

(n3 + n)
1

3

.

����	
	 
�
 �
��
 ����
 
�� ����
	�
��
 
� ������
	 �� �����
�


